
The Choice (Cosy Way)
The indications needed to make the
shawl are written. For the body of the
shawl, the rows on the right side and on
the wrong side are detailed. For the
wrong side rows,  from the first 3 and
last 3 stitches which are knitted, knit the
other stiches as they appear.

Material     :  
Circular needles 7mm, Yarn Nunki Anny
Blatt, 11 balls. 
Cable needle, yarn or tapestry needles, 
pins to block, eventually 10 stitch
markers.
Knitting kit on this page : https://lesaiguillesdecamille.com/Kit-Tricot-chale-le-Choix-Nunki-Anny-Blatt-p-

1185-c-5_105.html#fp 

Abbreviations     :    
st : stitch
k : knit
p : purl
Yo : Yarn over
m1L : make a increase to the left and knit it.
m1R :make a increase to the right and knit it.
(...)x… : Knit the pattern in parentheses as many times as it says after the "x".
R : row.
K2tog : knit 2 stitches together. That is to say knit the last stitch of the edge and the first stitch
that comes from the body of the shawl together. This makes the connection between the edge 
and the body of the shawl on the rows at the side edge of the shawl. Out of this configuration, 
simply knit 2 stitches together.
P2tog : purl 2 stitches together.  That is, knitting the first stitch of the body of the shawl and 
the first stitch of the edge together. This is the connection between the border and the body of 
the shawl on the rows of the side edge.
Hors de cette configuration, tricoter 2 mailles ensemble à l’envers.  
SKP : slip the first stitch, knit the next one, and then pass the slip stitch over. 
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SP2P : slip the first stitch, purl together the next 2 stitches, and then pass the slip stitch over.  
SK2P : slip the first stitch, knit together the next 2 stitches, and then pass the slip stitch over.  

Cables     :  
T1 (6 sts): slip 3 sts on cable needle placed in front of work, knit 3, take the stitches from cable
needle and knit them.
T2 (6sts):slip 3 sts on cable needle placed behind your work, knit 3, take the stitches from cable
needle and knit them .
T3 (2sts) :slip 1 st on cable needle placed in front of work, knit 1, take the stitch from cable 
needle and knit it .
T4 (2sts) :slip 1 st on cable needle placed behind your work, knit 1, take the stitch from cable 
needle and knit it .
T5 (5sts): slip 3 sts on cable needle placed in front of work, purl 2, take the stitches from cable 
needle and knit them.
T6 (5sts) :slip 2 sts on cable needle placed behind your work, knit 3, take the stitches from 
cable needle and purl them.
T7 (4sts) :slip 3 sts on cable needle placed in front of work, purl 1, take the stitches from cable 
needle and knit them. 
T8 : slip 1 st on cable needle placed behind your work, knit , take the stitch from cable needle 
and knit it .

Using colors in the rows on the pattern: to make the job easier, I've assigned colors to different 
rows so that the work is made easier, so you'll know which twists to do at which row.

Gauge  : stockinette 10/10cm : 16 stitches /15 rows. 
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Work:
Body of the shawl     :  
Cast on 85 stitches and knit 6 rows. If you want to place stitch markers in order to locate 
each pattern or space of increase, place them as in the fifth right side row, the markers being 
symbolized by the letter M. Between parentheses, you will find the use of each zone. Maintain 
the exact number of stitches in each section of cables, twists and curbs for edges during work.

k3,(edge in garter stitch)M, k15(increase aera), M, k6 (cable with 6 sts), M, k2 (increase 
aera), M, k4(edge of the main cable), M, k25 (main cable), M, k4(edge of the main cable), M, 
k2(increase aera), M, k6(cable with 6 sts), M, k15( increase aera), M, 3md (edge in garter 
stitch).When they show up, simply slip the markers from one needle to the other knitwise. For 
the clarity of the written explanations of the model, I will not mention them later. 

R1(right side row) : k3, Yo, k15, m1L, k6, m1R, k4, p2, k3, (p4, T1)x2, p4, k4, m1R, k6, 
m1L, k15, Yo, k3. (91st)
R2 (wrong side row) : k3, p28, k4, (p6, k4)x2, p3, k2, p28, k3.
R3 : k3, Yo, k17, m1L, T2, m1R, k3, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k3, m1R, 
T1, m1L, k17, Yo, k3.(99st)
R4 : k3, p32, k2, p3, (k4, p6)x2, k4, p32, k3.
R5 : k3, Yo, k19, m1L, k6,m1R, k5, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k5, m1R,k6,
m1L, k19, Yo, k3. (107st)
R6 : k3, p36, k2, p3, (k4, p6)x2, k4, p36, k3.
R7 : k3, Yo, k21, m1L, T2, m1R, k7, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k7, m1R, 
T1, m1L, k21, Yo, k3. (115st)
R8 : k3, p40, k2, (p6, k4)x2, p3, k2, p40, k3.
R9 : k3, Yo, k23, m1L, k6, m1R, k9, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k9, m1R, 
k6, m1L, k23, Yo, k3. (123st)
R10 : k3, p44,(k4, p6)x2, k4, p3, k2, p44, k3.
R11 : k3, Yo, k25, m1L, T2, m1R, k11, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k11, 
m1R, T1, m1L, k25, Yo, k3.(131st)
R12 : k3, p48, k2, p3, (k4, p6)x2, k4, p48, k3.
R13 : k3, Yo, k27, m1L, k6,m1R, k13, m1L, T3, k4, (T2, p4)x2, k3, p2, T4, m1L, k13, 
m1R, k6, m1L, k27, Yo, k3. (139st)
R14 : k3, p52, k2, p3, (k4, p6)x2, k4, p52, k3.
R15 : k3, Yo, k29, m1L, T2, m1R, k15, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k15, 
m1R, T1, m1L, k29, Yo, k3. (147st)
R16 : k3, p40, (k4, p6)x2, k4, p3, k2, p56, k3.
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R17 :k3, Yo, k31, m1L, k6, m1R, k17, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k17, 
m1R, k6, m1L, k31, Yo, k3. (155st)
R18 : k3, p60, (k4, p6)x2, k4, p3, k2, p60, k3.
R19 : k3, Yo, k33, m1L, T2, m1R, k19, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k19, 
m1R, T1, m1L, k33, Yo, k3. (163st)
R20 : k3, p64, k2, p3, (k4, p6)x2, k4, p64,  k3.
R21 : k3, Yo, k35, m1L, k6, m1R, k21, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k21, 
m1R, k6, m1L, k35, Yo, k3. (171st)
R22 : k3, p68, k2, p3, (k4, p6)x2, k4, p68, k3.
R23 : k3, Yo, k37, m1L, T2, m1R, k23, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k23, 
m1R, T1, m1L, k37, Yo, k3. (179st)
R24 : k3, p72, (k4, p6)x2, k4, p3, k2, p72, k3.
R25 : k3, Yo, k39, m1L, k6, m1R, k25, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k25, 
m1R, k6, m1L, k39, Yo, k3. (187st)
R26 : k3, p76,(k4, p6)x2, k4, p3, k2, p76, k3.
R27 : k3, Yo, k41, m1L, T2, m1R, k27, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k27, 
m1R, T1, m1L, k41, Yo, k3. (195st)
R28 : k3, p80, k2, p3, (k4, p6)x2, k4, p80, k3.
R29 : k3, Yo, k43, m1L, k6, m1R, k29, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k29, 
m1R, k6, m1L, k43, Yo, k3. (203st)
R30 : k3, p84, k2, p3, (k4, p6)x2, k4, p84, k3.
R31 : k3, Yo, k45, m1L, T2, m1R, k31, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k31, 
m1R, T1, m1L, k45, Yo, k3. (211st)
R32 : k3, p88, (k4, p6)x2, k4, p3, k2, p88, k3.
R33 : k3, Yo, k47, m1L, k6, m1R, k33, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k33, 
m1R, k6, m1L, k47, Yo, k3. (219st) 
R34 : k3, p92, (k4, p6)x2, k4, p3, k2, p92, k3.
R35 : k3, Yo, k49, m1L, T2, m1R, k35, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k35, 
m1R, T1, m1L, k49, Yo, k3.(227st)
R36 : k3, p96, k2, p3, (k4, p6)x2, k4, p96, k3.
R37 : k3, Yo, k51, m1L, k6, m1R, k37, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k37, 
m1R, k6, m1L, k51, Yo, k3. (235st)
R38 : k3, p100, k2, p3, (k4, p6)x2, k4, p100, k3. 
R39 : k3, Yo, k53, m1L, T2, m1R, k39, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k39, 
m1R, T1, m1L, k53, Yo, k3. (243st)
R40 : k3, p104, (k4, p6)x2, k4, p3, k2, p104, k3.
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R41 : k3, Yo, k55, m1L, k6, m1R, k41, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k41, 
m1R, k6, m1L, k55, Yo, k3. (251st)
R42 : k3, p108, (k4, p6)x2, k4, p3, k2, p108, k3.
R43 : k3, Yo, k57, m1L, T2, m1R, k43, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k43, 
m1R, T1, m1L, k57, Yo, k3. (259st)
R44 : k3, p112, k2, p3, (k4, p6)x2, k4, p112, k3.
R45 : k3, Yo, k59, m1L, k6, m1R, k45, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k45, 
m1R, k6, m1L, k59, Yo, k3. (267st)
R46 : k3, p116, k2, p3, (k4, p6)x2, k4, p116, k3.
R47 : k3, Yo, k61, m1L, T2, m1R, k47, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k47, 
m1R, T1, m1L, k61, Yo, k3. (275st)
R48 : k3, p120, (k4, p6)x2, k4, p3, k2, p120, k3.
R49 : k3, Yo, k63, m1L, k6, m1R, k49, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k49, 
m1R, k6, m1L, k63, Yo, k3. (283st)
R50 : k3, p124,(k4, p6)x2, k4, p3, k2, p124, k3.
R51 : k3, Yo, k65, m1L, T2, m1R, k51, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k51, 
m1R, T1, m1L, k65, Yo, k3. (291st)
R52 : k3, p128, k2, p3, (k4, p6)x2, k4, p128, k3.
R53 : k3, Yo, k67, m1L, k6, m1R, k53, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k53, 
m1R, k6, m1L, k67, Yo, k3. (299st)
R54 : k3, p132, k2, p3, (k4, p6)x2, k4, p132, k3.
R55 : k3, Yo, k69, m1L, T2, m1R, k55, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k55, 
m1R, T1, m1L, k69, Yo, k3. (307st)
R56 : k3, p136, (k4, p6)x2, k4, p3, k2, p136, k3.
R57 : k3, Yo, k71, m1L, k6, m1R, k57, m1L, T3, p2, k3, (p4, T1)x2, p4, T4, m1L, k57, 
m1R, k6, m1L, k71, Yo, k3. (315st)
R58 : k3, p140, (k4, p6)x2, k4, p3, k2, p140, k3.
R59 : k3, Yo, k73, m1L, T2, m1R, k59, m1L, T3, p2, (T5, T6)x2, T5, p2, T4, m1L, k59, 
m1R, T1, m1L, k73, Yo, k3. (323st)
R60 : k3, p144, k2, p3, (k4, p6)x2, k4, p144, k3.
R61 : k3, Yo, k75, m1L, k6,m1R, k61, m1L, T3, p4, (T2, p4)x2, k3, p2, T4, m1L, k61, 
m1R, k6, m1L, k75, Yo, k3. (331st)
R62 : k3, p148, k2, p3, (k4, p6)x2, k4, p148, k3.
R63 : k3, Yo, k77, m1L, T2, m1R, k63, m1L, T3, p2, (T6, T5)x2, T6, p2, T4, m1L, k63, 
m1R, T1, m1L, k77, Yo, k3. (339st)
R64 : k3, p152, (k4, p6)x2, k4, p3, k2, p152, k3.
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   Side Edges     :   

The shawl has a 3-part knit edge : a central part that continues the body of the shawl, and 
two side parts that are knitted one after the other, then connected to the central part when 
it is knitted without seams.
To visualize the positioning of the edges, put the shawl on the right side in front of you. The 
first side edge will be at your right hand, the second side edge on your left hand . 
At the beginning or end of the row, the K2tog and P2tog mean that you knit the first stitch 
of the side edge with the first one that appears on the body of the shawl, which allows to 
connect the whole thing seamlessly.  

For the first edge, at the end of row 64, put the work on the right side and cast on 36 
stitches on the right needle. And knit :
Rows 1, 3 and 5 : k35, K2tog.  
Rows  2, 4, and 6 : knit all 36st.

Then repeat 9 times the pattern of 8 rows following (a total of 72 rows)
Row 1 (right side) : k1, Yo, k1, T3, p2, k3, (p4, T1)x2, p4, T4, K2tog.  
Row 2 (wrong side) : P2tog, p2, (k4, p6)x2, k4, p3, k2, p5.
Row 3 (right side) : k1, Yo, k2, T3, p2, (T5, T6)x2, T5, p2, T4, K2tog.  
Row 4 (wrong side) : P2tog, p2, k2, p3, (k4, p6)x2, k4, p3, SP2P
Row 5 (right side) : k1, Yo, k1, T3, p4, (T2, p4)x2, k3, p2, T4, K2tog.
Row 6 (wrong side) : P2tog, p2, k2, p3, (k4, p6)x2, k4, p5.
Row 7(right side) : k1, Yo, k2, T3, p2, (T6, T5)x2, T6, p2, T4, K2tog.
Row 8 (wrong side) : P2tog, p2, (k4, p6)x2, k4, p3, k2, p3, SP2P.

Then repeat 5 times the pattern of 8 rows:
Row 1 (right side) : k1, Yo, k1, T3, p2, k3, (p4, T1)x2, p4, T4, K2tog. 
Row 2 (wrong side) : p3, (k4, p6)x2, k4, p3, k2, p5.
Row 3 (right side) : k1, Yo, k2, T3, p2, (T5, T6)x2, T5, p2, T4, K2tog.
Row 4 (wrong side) : p3, k2, p3, (k4, p6)x2, k4, p3, SP2P
Row 5 (right side) : k1, Yo, k1, T3, p4, (T2, p4)x2, k3, p2, T4, K2tog.
Row 6 (wrong side) : p3, k2, p3, (k4, p6)x2, k4, p5.
Row 7 (right side) : k1, Yo, k2, T3, p2, (T6, T5)x2, T6, p2, T4, K2tog.
Row 8 (wrong side) : p3, (k4, p6)x2, k4, p3, k2, p3, SP2P.

Then repeat 7 times the pattern of 8 rows (a total of 56 rows):
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Row 1 (right side) : k1, Yo, k1, T3, p2, k3, (p4, T1)x2, p4, T4, K2tog. 
Row 2 (wrong side) :P2tog, p2, (k4, p6)x2, k4, p3, k2, p5.
Row 3 (right side) : k1, Yo, k2, T3, p2, (T5, T6)x2, T5, p2, T4, K2tog. 
Row 4 (wrong side) : P2tog, p2, k2, p3, (k4, p6)x2, k4, p3, SP2P
Row 5 (right side) : k1, Yo, k1, T3, p4, (T2, p4)x2, k3, p2, T4, K2tog.
Row 6 (wrong side) : P2tog, p2, k2, p3, (k4, p6)x2, k4, p5.
Row 7(right side) : k1, Yo, k2, T3, p2, (T6, T5)x2, T6, p2, T4, K2tog.
Row 8 (wrong side) : P2tog, p2, (k4, p6)x2, k4, p3, k2, p3, SP2P

Move to the second side edge:

Put the shawl on the right side in front of you, cast on 36 stitches on the right needle. Knit 
together the first stitch on your left needle, with the first stitch on your right needle (the link 
between the edge and the body of the shawl is made.), And then knit the next 35 stitches. 
Make the next row by knitting all sts. For the next row, knit together the first stitch on your 
left needle, with the first stitch on your right needle, and knit the next 35 stitches. Make the 
next row by knitting all sts. Repeat this operation again, you will have made a total of 6 rows 
in garter stitch.
Then start the patterns:

Repeat 9 times the pattern of 8 rows following (a total of 72 rows):
Row 1 (right side) : K2tog, T3, p2, k3, (p4, T1)x2, p4, T4, k1, Yo, k1.
Row 2 (wrong side) : p5, k4, (p6, k4)x2, p3, k2, p2, P2tog.
Row 3 (right side) : K2tog, T3, p2,(T5, T6)x2, T5, p2,T4, k2, Yo, k1.
Row 4 (wrong side) : SP2P, p3, k2, p3, k4, (p6, k4)x2, p2, P2tog.
Row 5 (right side) :K2tog, T3,(p4, T2)x2, p4, k3, p2, T4, k1, Yo, k1.
Row 6 (wrong side) : p5, k2, p3, (k4, p6)x2, k4, p2, P2tog.
Row 7 (right side) :K2tog,T3, p2, (T5, T6)x2, T5, p2, T4, k2, Yo, k1.
Row 8 (wrong side) :SP2P, p3, (k4, p6)x2, k4, p3, k2, p2, P2tog.

Then repeat 5 times the pattern of 8 rows:
Row 1 (right side) : K2tog,T3, 2mv, 3md, (4mv, T1)x2, 4mv, T4,k1, Yo, k1.
Row 2 (wrong side) : p5, k4, (p6, k4)x2, p3, k2, p3.
Row 3 (right side) : K2tog, T3, p2,(T5, T6)x2, T5, p2,T4, k2, Yo, k1.
Row 4 (wrong side) : SP2P,p3, k2, p3, k4, (p6, k4)x2, p3.
Row 5 (right side) : K2tog, T3,(p4, T2)x2, p4, k3, p2, T4, k1, Yo, k1.
Row 6 (wrong side) : p5, k2, p3, (k4, p6)x2, k4, p3.
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Row 7 (right side) : K2tog,T3, p2, (T5, T6)x2, T5, p2, T4, k2, Yo, k1.
Row 8 (wrong side) :SP2P,p3, (k4, p6)x2, k4, p3, k2, p3.

Then repeat 7 times the pattern of 8 rows (a total of 56 rows):
Row 1 (right side) : K2tog, T3, p2, k3, (p4, T1)x2, p4, T4, k1, Yo, k1.
Row 2 (wrong side) : p5, k4, (p6, k4)x2, p3, k2, p2, P2tog.
Row 3 (right side) : K2tog, T3, p2,(T5, T6)x2, T5, p2,T4, k2, Yo, k1.
Row 4 (wrong side) : SP2P, p3, k2, p3, k4, (p6, k4)x2, p2, P2tog.
Row 5 (right side) :K2tog, T3,(p4, T2)x2, p4, k3, p2, T4, k1, Yo, k1.
Row 6 (wrong side) : p5, k2, p3, (k4, p6)x2, k4, p2, P2tog.
Row 7 (right side) :K2tog,T3, p2, (T5, T6)x2, T5, p2, T4, k2, Yo, k1.
Row 8 (wrong side) :SP2P, p3, (k4, p6)x2, k4, p3, k2, p2, P2tog.

Central Edge     :  
Put the shawl on the right side in front of you, you see the two edges and the central part. cut
the thread of the ball to 15cm. Pass knitwise the stitches of the central twist stitches of the 
right needle to the one on the left. This central edge will have 37 sts. Pick up the ball and knit
as follows 4 times the pattern of 8 rows, which will make a total of 32 rows.
At the beginning and end of the row, the K2tog and P2tog mean that you knit the first stitch 
of the center edge with the first one that appears on the side edges, which allows you to 
connect everything seamlessly.

R1(right side) :  K2tog, k1,T3, p2, k3, (p4, T1)x2, p4, T4, k1, K2tog.
R2(wrong side) : P2tog, p3, k4, (p6, k4), p3, k2, p3, P2tog.
R3(right side) : MK2tog, k1 ,T3, p2, (T5, T6)x2, T5, p2, T4, k1, K2tog.
R4(wrong side) : P2tog, p3, k2, p3, (k4, p6)x2, k4, p3, P2tog.
R5(right side) : K2tog, k1 T3, p4, (T2, p4)x2, k3, p2, T4, k1, K2tog.
R6(wrong side) : P2tog, p3, k2, p3, (k4, p6)x2, k4, p3, P2tog.
R7(right side) : K2tog, k1,T3, p2, (T6, T5)x2, T6, p2, T4, k1, K2tog.
R8(wrong side) : P2tog, p3, k4, (p6, k4)x2, p3, k2, p3, P2tog.

At the end of the 32 rows, knit the following rows:
R1(right side) : K2tog, k1, T3, p2, k3, (p4, T1)x2, (P2tog) x2, T4, k1, K2tog.
R2(wrong side) : P2tog, p3, k2, (P2tog)x3, k4, p6, k4, p3, k2, p3, P2tog.
R3(right side) : K2tog, k1, T3, p2,  (T5, T6)x2, T4, k1, K2tog.
R4(wrong side) : P2tog, p3, (k4, p6)x2, k4, p3, P2tog.
R5(right side) : k1, Yo, k1, T3, (p4, T2)x2, p4, T4,  k1, Yo, k1
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R6(wrong side) : p5, (k4, p6) x2, k4, p5.
R7(right side) : k1, Yo, k2, T3, p2, (T6,T5)x2, p2, T4, k2, Yo, k1.
R8(wrong side) : SP2P, p3, k2, p3, k4, p6, k4, p3, k2, p3, SP2P.
R9(right side) : k1, Yo, k1, T3, p2, k3, p4, T1, p4, k3, p2, T4, k1, Yo, k1.
R10(wrong side) : p5, k2, p3, k4, p6, k4, p3, k2, p5. 
R11(right side) : k1, Yo, k2, T3, P2tog,T7, p1,P2tog,k6, P2tog, p1,T8, P2tog, T4, k2, Yo, k1.
R12(wrong side) : SP2P,(p3, k2) x2, k6, (k2, p3) x2, k2, SP2P.
R13(right side) : k1, Yo, k1, T3, p2, T7, p1, T1, p1, T8, p2,T4, k1, Yo, k1.
R14(wrong side) : p5, k3, p3, k1, p6, k1, p3, k3, p5.
R15(right side) : k1, Yo, k2, T3, P2tog, p1, T7, k6, T8, p1, P2tog,T4, k2, Yo, k1.
R16(wrong side) : SP2P, p3, k3, p12, k3, p3, SP2P.
R17(right side) : k1, Yo, k1, T3, P2tog, p1, T7, k4, T8, p1, P2tog, T4, k1, Yo, k1 .
R18(wrong side) : p5, k3, p10, k3, p5.
R19(right side) : k1, Yo, k2, T3, P2tog, p1, T7, k2, T8, p1, P2tog,T4, k2, Yo, k1.
R20(wrong side) : SP2P, p3, k3, p8, k3, p3, SP2P.
R21(right side) : k1, Yo, k1, T3, P2tog, p1, T7,T8, k1, P2tog, T4, k1, Yo, k1 .
R22(wrong side) : p5, k3, p6, k3, p5.
R23(right side) : k1, Yo, k2, T3, P2tog, p1, k1, SK2P, k2, p1, P2tog,T4, k2, Yo, k1.
R24(wrong side) : SP2P, p3, k2, p4, k2, p3, SP2P.
R25(right side) : k1, Yo, k1, T3, P2tog, SK2P, k1, MP2tog, T4, k1, Yo, k1.
R26(wrong side) : p5, k1, p2, k1, p5.
R27(right side) :  k1, Yo, k2, T3, p1, K2tog, p1,T4, k2, Yo, k1.
R28(wrong side) : SP2P, p3, k1, p1, k1, p3, SP2P.
R29(right side) : SKP, T3, SK2P, T4, K2tog.
R30(wrong side) : p7.
R31(right side) : SKP, SK2P, K2tog.
R32(wrong side) : SP2P.

Wash and block the shawl. Take in the threads, cut them short. 
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